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QUESTION 1

Your company has been assigned one public IP address. You want to enable internet traffic to reach multiple servers in
your DMZ that are configured with private address. In this scenario, which type of NAT would be used to accomplish this
tasks? 

A. Static NAT 

B. Destination NAT 

C. Source NAT 

D. NAT without PAT 

Correct Answer: B 

 

QUESTION 2

Which two actions are performed on an incoming packet matching an existing session? (Choose two.) 

A. Zone processing 

B. Security policy evolution 

C. Service ALG processing 

D. Screens processing 

Correct Answer: CD 

 

QUESTION 3

What is the behavior of an SRX series device when UDP and TCP is rejected by a security policy actions? (choose
two) 

A. The reject action drops UDP packets and sends an ICMP message to the source 

B. The reject actions drops TCP packets and sends an ICMP message to the source 

C. The reject action drops UDP packets and does not send ant message to the source 

D. The reject action drops TCP packets and send an RST message to the source. 

Correct Answer: AD 

 

QUESTION 4

Which two statements are true about security policy actions? (Choose two.) 
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A. The reject action drops the traffic and sends a message to the source device. 

B. The deny action silently drop the traffic. 

C. The deny action drops the traffic and sends a message to the source device. 

D. The reject action silently drops the traffic. 

Correct Answer: AB 

 

QUESTION 5

Which two statements are true about UTM on an SRX340? (Choose two.) 

A. A default UTM policy is created. 

B. No default profile is created. 

C. No default UTM policy is created 

D. A default UTM profile is created 

Correct Answer: BC 

 

QUESTION 6

On an SRX Series device, how should you configure your IKE gateway if the remote endpoint is a branch office-using a
dynamic IP address? 

A. Configure the IPsec policy to use MDS authentication. 

B. Configure the IKE policy to use aggressive mode. 

C. Configure the IPsec policy to use aggressive mode. 

D. Configure the IKE policy to use a static IP address 

Correct Answer: B 

 

QUESTION 7

Users in your network are downloading files with file extensions that you consider to be unsafe for your network. You
must prevent files with specific file extensions from entering your network. Which UTM feature should be enable on an
SRX Series device to accomplish this task? 

A. Content filtering 

B. Web filtering 

C. Antispam 
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D. URL filtering 

Correct Answer: A 

 

QUESTION 8

Which two statements are correct about functional zones? (Choose two.) 

A. A functional zone uses security policies to enforce rules for transit traffic. 

B. Traffic received on the management interface in the functional zone cannot transit out other interface. 

C. Functional zones separate groups of users based on their function. 

D. A function is used for special purpose, such as management interface 

Correct Answer: BD 

 

QUESTION 9

What are the valid actions for a source NAT rule in J-Web? (choose three.) 

A. On 

B. Off 

C. Pool 

D. Source 

E. interface 

Correct Answer: BCE 

https://www.juniper.net/documentation/en_US/junos/topics/topic-map/nat-security-source-and- sourcepool.html 

 

QUESTION 10

The free licensing model for Sky ATP includes which features? (Choose two.) 

A. C and C feeds 

B. Infected host blocking 

C. Executable file inspection 

D. Compromised endpoint dashboard 

Correct Answer: BC 
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QUESTION 11

What is the definition of zone on an SRX series devices? 

A. A collection of one or more network segments with different security requirements 

B. An individual logical interface with a private IP address 

C. An individual logical interface with a public IP address 

D. A collection of one or more network segment sharing similar security requirements. 

Correct Answer: D 

 

QUESTION 12

Which statements describes stateless firewalls on SRX series devices? 

A. Each packet is analyzed by firewall filters 

B. Each packet is analyzed based on application layer security 

C. Each packet is analyzed based on source zone 

D. Each packet is analyzed as part of a session. 

Correct Answer: A 

 

QUESTION 13

Which two segments describes IPsec VPNs? (Choose two.) 

A. IPsec VPN traffic is always authenticated. 

B. IPsec VPN traffic is always encrypted. 

C. IPsec VPNs use security to secure traffic over a public network between two remote sites. 

D. IPsec VPNs are dedicated physical connections between two private networks. 

Correct Answer: AC 

 

QUESTION 14

On an SRX device, you want to regulate traffic base on network segments. In this scenario, what do you configure to
accomplish this task? 

A. Screens 

B. Zones 
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C. ALGs 

D. NAT 

Correct Answer: B 

 

QUESTION 15

Which two notifications are available when the antivirus engine detects and infected file? (Choose two.) 

A. e-mail notifications 

B. SNMP notifications 

C. SMS notifications 

D. Protocol-only notification 

Correct Answer: AD 
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